|

i

i L S 3 /

0
(A >J>

A&fan dl(u.""f' : —
!: R Br-thers = '/\ ,//7%(1(/4%7
> — 2 Sisters = IR
/e AN Y o
— : 32
11{/? //Y/Ve % 7 % / IYNVY
i <+ * THUS + +
J")LQJ /7/05 3-”7 — (Or‘\S"'JQ wife >J ’73-/ /7/‘?
:
( %7\)4 2 S ( Theo “//A/’> S-/;y%\(J’))J)
fl’“ S+¢( A mqm't()e_ ( ?/7 ?>
;'{ e N
. I
A 204N .,; - | =
% i’ [ t N //7’/76 %
'+ + + . + n
A2 § Bea s e
i Ey2Y oy = (572) E—=$77 (riginaR
;H 1) /\él 72 — € ) S~ 3954 (He. Prac
I .
’I: step 2 s :»u::;i<
{ A |
< /7.-1(6)/ ..,'!: @ | @
AN V24 /%O '; ‘ //m&
‘.' o + + Lk o -
oo s Sho —> (ar,‘j:n‘Q)J, 55 ><
(_!55/77)4 = _J (e 5;79\@(@) )
i AV ]
> (S »2)
3 20N
I /Y A A7 Thas 1402
I+ / + / < — /+ A
ln 5 5y3) G () 4 e A55

" >J>Q®\J

Y fSon 2pu

6/

/LM - 300 :Z))’r;/c VPSS S%




“ aINE: I

T [ S ST W ——

AING:

|
[
A?Né‘.i‘

l
1
!
{
|

|
i

Qusprr: Whey net o reguire ¥1 A 224 Foebe gof 5387 Answer’ so whot

/:5 NINA! @

|
{

..l ro’_s D o0 ,,,7" Q_/‘a/7 +to //6/7é ?
C_\T Adp Y )/7,7)

Z’G/?Z case «
// 2 2A¢ . f‘r)/f ? (é r-#fars)
o o )
? : ? .
Y Cg\ ; 52/( . (S(_d‘e(>>
“}klﬁj_/" ~
Tf /»/A? Hies > A151 Zecs et HFree (,7/7{ 493)

P, if  prier b deoH ‘? /,a//w//@ .32\,:5 /’&/’)é o0 1o Sho =

/

900 ceant femeve 230 Stafos A)l o ¥l ADPo4 soMADOO] shrr \7065

@._.-‘;- ‘Frcc (n.;‘!' € ven ,7,_2_’_5:/)>,

w}l«f n/f’ 4/(/7 Sanc¢ (‘bQC& %7 //6/?/’) i

]

(Lfo‘l%(/s)

(/30  case- //V)\lﬁ /xD//c?
£ < )
7(§::)7 (Srﬁcrs)
e

/’)/Cf
X2 oJ

If Yo Lies  pteer Fo  martiage Po $PO TRADL G5 AW

1,7 //Y//& ( //é?/> . w/.7 shool@ /’6/,?/7 20 4 317 remeve
Mf: 721 9 ‘
Answer ', A?A///)? (Ze. LDeal [et APr7 oecur> i (Giv¢ 238 /’,I‘,,{- f,,y> |

/ ?_
Bt s A)////)S\ Can '7‘_,r4 7(?7 « @//7. Howy . —7 e Her |
1o L {3 ) pratties hel sister a0 !
A) [ after H#e  /1817) /wo)ﬁ’é&ﬁft-' TG ¥ D oatlzes hel siste >0 |

D20 |

B> vy /mrc(a.’fcp man) %3 maltie> S22 affer 7%_/’5/;/7 P
THuS® Sirce dont f{/m;‘f r~ral (//1/!/@ 'fa"k—?,.ﬁ '>>:> At willf be @ssomel2

U

‘+ ;_‘ .I:,»Q'Ca-vs{ S)éAﬁ)ﬂ/?Y )‘\73 [I:Z D/ﬂ-‘) 4«.@ a /,63/ f"lccf/-‘aJe> Q.(Q
8) 2o~ Sop it mitfaly e adll ¥ vold

of

-

malfisg2 R) [AED = 200 er

Answer s Refu;rL%QJ’DD,J” 9 I‘c’(’ 2300 = chaws i Bt iy A3,
CADN —




